USER MANUAL

MODEL MDA-100

Mixing Distribution Amplifier

RTS

9350-7104-00 Rev D 6/00




@

SAFETY SUMMARY
POWER SOURCE

This equipment is designed to operate from an AC power source as described in the electrical specifications.

GROUNDING

The chassis of this product is grounded through the grounding pin of the line cord. To avoid electrical
shock, with the power off, plug the line cord into a properly wired receptacle before making any input or
output connections with other devices. Use only the line cord specified for your unit. Ensure that the line
cord is in good condition and free of kinks.

CAUTION:

A protective ground connection through the grounding conductor of the line cord is essential for safe
operation,

FUSING

This product is fitted with a fuse, To avoid fire hazard, check that the fuse has a suitable voltage and
current rating for the power requirements listed in the specifications and shown on the schematic diagram.

MDA-100 User Manuat iii




SECTION 1 DESCRIPTION AND
SPECIFICATIONS

1.1 DESCRIPTION

The MDA-100 Mixing and Distribution Amplifier
contains an 8 x 1 summing amplifier (mixer) anda 1 x 8
distribution amplifier in a case that is 1 rack unit high.
The MDA-100 is useful, for example, in camera control
(CCU), where multiple camera operators have to talk and
listen to one master control location. In this application,
audio from each camera (up to eight) is fed to one of the
summing amplifier inputs of the MDA-100. All eight
audio inputs are summed and fed to the master controller
input. The return audio path from the master controller
back to the individual cameras is accomplished using the
distribution amplifier, which takes the single audio output
from the master controller and distributes it to each of the
eight camera outputs.

The gain of each summing amplifier input may be
individually adjusted by a trimmer on the front panel of

the MDA-100. There is also an output adjustment
trimmer located inside the MDA-100 to adjust the final
output level of the summing amplifier. The summing
amplifier output is a 60-ohm voliage source.

The distribution amplifier has a separate output level
trimmer for each output. These trimmers are located on
the front panel. All the outputs are 60-ohm voltage
sources. The input impedance may be set for bridging
(20 kohms), 150 ohms, or 600 ohms, selected by rear
panel jumpers.

The MDA-100 fits into a standard 19" (483 mm)
equipment rack. The power entry module is an IEC
approved type, which contains a line voltage switch, a
line filter, a fuse holder, and a line cord socket connector.
The line voltage switch may be set for either 105/125
Vac, 50/60 Hz, or 210/250 Vac, 50/60 Hz supply
voltages. The MDA-100 features a torroidal-transformer
power supply for low-noise operation.

-6/424(TYP)
o > _ﬁ? N
Hi2 (typ) __\u 2
( _\_,ﬂ%(n mvbf. u
2 \ﬂ \,ﬂ v .
’ \a |~ 5 oc_wvﬂq
4 | \/ﬂ? 6
NPT . /ﬂ.\vb{. /ﬂox?u q
ay | ~67424
6 \& > .
7 S
|+ 12 ti2
o <P | e
N 7 | OUTPUT
__40\\Mw°< >—- PS ——p OC

Figure 1. Functional Diagram
MDA-100 Mixing Distribution Amplifier

MDA-100 User Manual 1-1




O

SECTION 2 INSTALLATION
2.1 UNPACKING

Unpack the MDA-100 and verify that you have received
the following:

(1) MDA-100 Mixing Distribution Amplifier
(1) Molex Connector Kit
(1) ACLine Cord
(1) Instruction Manual
NOTE

It is important that all articles be thoroughly inspected
immediately upon receipt. Any damage discovered
should be cause for a damage claim against the carrier.

2.2 PREPARATION

The MDA-100 fits in 19" (483 mm) wide standard
equipment racks, consoles and turrets. Prepare the
equipment rack for installation of the MDA-100, and
locate a suitable power source.

2.3 POWER CONNECTION

Before plugging in the power cord, verify that the voltage
selector switch is set to the correct voltage. Use a
flat-blade screwdriver to align the white dot with 110 or
220, depending on your supply voltage. Plug the power
cord into the MDA-100 and an AC outlet.

2.4 FUSE REPLACEMENT

The fuse holder (Figure 2-2) is designed for one active
fuse, with provision for holding a spare. It also has a
safety interlock to prevent fuse removal while the power
cord is plugged into the MDA-100.

To remove the fuse :

1. Unplug the power cord from the MDA-100,

2. Using a small screwdriver, pry out the fuse holder.
3. Replace the fuse only with the same type and rating.

4. Slide the fuse holder back into place and reinstall the
power cord.

TELEX COMMUNICATIONS, INC.
Made in o USA

000 W]w]u]n]u]s 000000 D00
ooooag oonoao ooo
i J2 33 4

SERIAL No.

sysTEww DISCONNECT
CHASSIS POWER
GROUND

BEFORE
OPENING

110/220 V AC
50760 Hz
20VA

Gy,

J1 Summing amplifier output

J2 Summing amplifier inputs 5-8

J3 Summing amplifier inputs 1-4

J4 Distribution amplifier input termination select
Js Distribution amplifier outputs 5-8

J6 Distribution amplifier outputs 1-4
J7 System/Chassis ground

A Voltage selector switch

B Fuse and fuse holder

C Line cord receptacle

Figure 2-1, Rear Panel Layout
MDA-100 Distribution Amplifier

MDA-100 User Manual 2-1




2.5.5 J5 CONNECTOR

Distribution Amp Outputs 5-8

Pin
1
7
w— 2
EHEEED 3
1] B121[1 ] g
4
10
8
6
12
11
2.5.6 J6 CONNECTOR

Function

+ Output No. 5
- Output No. 5

Shield No. 5

+ Output No. 6
- Output No. 6

Shield No. 6

+ Output No. 7
- Output No. 7

Shield No. 7

+ Output No. 8
- Output No. 8

Shield No. 8

Distribution Amp Outputs 1-4

[l s]e] 7]
EEAEEG

o]
B

oxoos.hu-\oww\n—

okt
e

Function

+ Output No. 1
- Output No. 1

Shield No. 1

+ Output No. 2
- Output No. 2
Shield No. 2

+ Output No. 3
- Output No. 3

Shield No. 3

+ Output No. 4
- Output No. 4

Shield No. 4

2.5.7 J7 CONNECTOR

Chassis And Audio Grounds

Pin Function
Chassis ground
Chassis ground
Chassis ground
Audio common.
Audio common.
Audio common.

oEn
GGG

O\ h O B DI e

Note

As supplied, the MDA-100 chassis ground is
connected to earth ground through the line cord, and
the audio ground is isolated from earth ground.

Your installation may require that the audio ground be
connected to some other reference than earth ground.
In this case, connect your ground reference to pins 3,
Sand 6 of J7.

If separate audio and chassis grounds are not required,
the chassis and audio ground pins of J7 may be
interconnected for safety. Connect pin 1 to pin 3, pin
2 to pin 5, and pin 4 to pin 6.

2.6 AUDIO LEVEL SETTINGS
2.6.1 Summing Amplifier

1. Activate all audio devices connected to the MDA-100.

2.  While monitoring the summing amp output, adjust the
INPUT LEVEL trimmers on the front panel of the
MDA-100 as required to equalize the summing
amplifier input levels.

3. If the summing amplifier output level is too high or low
for your requirements, remove the top cover of the
MDA-100 and adjust the OUTPUT LEVEL trimmer
(located on the circuit board near J1).

2.6.2 Distribution Amplifier

Adjust the OUTPUT LEVEL trimmers on the front panel
of the MDA-100 as required to supply a satisfactory
signal level at each output destination.

MDA-100 User Manual 2-3




O

SECTION 3: PARTS LISTS
3.1 HOW TO OBTAIN PARTS

Parts may be obtained directly from Telex Communications,

Inc.:

Telex Communications, Inc.
12000 Portland Avenue South,
Burnsville, MN 55337 U.S.A.
Telephone: (877) 863-4169
Fax: (800) 323-0498

3.2 FINAL ASSEMBLY

3.4 CONNECTOR KIT

Qty. | RTS Part No. Description

4 8800101883 | Connector Housing, 12-Position
Female, Molex 39-01-2120

3 8800102098 | Connector Housing, 6-Position
Female, Molex 39-01-2060

70 8800147763 | Connector Pin, Female, 18-24 GA

3.5 CIRCUIT BOARD ASSY, MDA-100

Qty.

RTS Part No.

Description

1
1

e

LW N = k= DN = Q0

8800102668
8800117313

8800118232

8800118982
8800121406
8800124403
8800129603
8800129630
8800129621
8800129658
8800135561
8800154709

8800163129

9030721500

AC Power Cord, 18GA, 7 Ft

AC Entry Module with 110/220
Selector Switch

Connector, 4-Position, .156 Sp,
22GA

Lug, Quick Disconnect
Transformer, Power, 20V

Nut, Kep, #6-32

Cover, Top

Panel, Side, MDA-100

Panel, Rear, MDA-100

Fuse, 1A, 250V, Fast

Quick Connect Femn 18-22 Ins Red

Quick Connect Fem 18-22 Rt
Angle Ins

-Screw, Flat Head Machine, #4-40 x

3/16
Circuit Board Assy, MDA-100

3.3 FRONT PANEL ASSEMBLY

Qty.

RTS Part No.

Description

1
15
15

IS

B e e e

8800129612
50086004
51845038

8800105380
8800108706

8800109867
8800119552
88001296568
8800141037
8800242945

8800300800

Panel, Front, MDA-100
Washer, Lock

Screw, Machine, CR PH, #4-40 x
1/4
Washer, Lock, Int Tooth, #6

Screw, Pan Head Machine, #6-32 x
3/8

Terminal, Fem, 14-16 Non Ins
Nut, Kep, #10-32

Fuse, 1A, 250V, Fast
Terminal Ring, #6

Screw, Oval Head Machine, #6-32
x3/8

Screw, Pan Head Machine, #10-32
x1-1/2

PARTS LIST ABBREVIATIONS: CD, Ceramic Disk;
CF, Carbon Film; CM, Ceramic Monolithic;

EL, Electrolytic; MF, Metal Film; Rad, Radial Leads;
Tant, Tantalum.

3-1

MDA-100 User Manual

Oty. | RTS Part No. Description

17 | 8800100508 C:lnl\]};%:itor, Cer, 22pF, 100V, 2%,

72 | 8800100562 | Capacitor, Cer, 0.1uf, 50V, 20%

18 | 8800100624 | Capacitor, Cer, 1uF, 50V

2 8800139594 | Capacitor, Tant, 22uF, 50V, 20%

2 8800118009 Caspz\ilcitor, EL, Radial, 4,700uF,

)

17 | 8800127516 | Capacitor, Cer, 100pf, 100V, 2%

4 8800183018 | Capacitor, Tant, 22uf, 16V, 20%

4 8800114771 | Diode, 1A 400PRV, 1N5060

4 8800102926 | Diode 1N5404

1 8800129710 | Diode 1N5256

2 8800103907 | Heatsink, TO-220

1 8800104737 | IC, Regulator, -18V, TO-220V Pkg,
79M18

1 8800104791 | IC, Regulator, +18V, TO-220V Pkg,
78M18

10 | 8800129382 | IC, Op-amp, Low Offset, Motorola
OoP-27GP

18 | 8800156529 | IC, Op-amp, NE6534AN

1 8800105362 | LED, Red Super Bright, Stanley
SBR-3931

18 | 8800107137 | Resistor, 30 Ohm, 1/2W, 5%

20 | 8800107235 | Resistor, MF, 100K, 1/4W, 1%

10 | 8800107253 | Resistor, MF, 10.0K, 1/4W, 1%

16 | 8800107333 | Resistor, MF, 1.0K, 1/4W, 1%

32 | 8800107404 | Resistor, MF, 20.0K, 1/4W, 1%

9 8800107681 | Resistor, MF, 4.99K, 1/4W, 1%

2 8800107761 Rel%}stor, MF, 6.19K Ohm, 1/4W,

0

8 8800107823 | Resistor, MF, 9.76K, 1/4W, 1%

1 8800108056 | Resistor, CF, 2.7K, 1/4W, 5%

18 | 8800129747 | Resistor, MF, 300 Ohm, 1/4W, 1%

4 8800136356 | Resistor, MF, 30.1K, 1/4W, 1%

2 8800168197 | Resistor, MF, 5.9K, 1/4W, 1%

16 | 8800221272 | Trimpot, 100K, Beckman
89PR-100K (front panel
trimmers)

3 8800129729 | Trimpot, 100K, Beckman
68WR-100K (internal trimmers)

8 8800134456 | Trimpot, Multi-turn, 500 ohm,
Bourns 3299W-1-501

2 50086004 Washer, Lock

2 51845039 Sc;;ag, Machine, CR PH, #4-40 x

2 52188006 Nut, Hex, #4-40

1-4-94




L

Jé

INPUT AUDIO
1x8

CIRCUIT 1

I

il

2R

NOTE.~

OUTPUT AUDIO
60E
8xt

FOR 600E SOURCE TERMINATION, JUMPER PIN 4 to PIN 6
FOR 150E SOURCE TERMINATION, JUMPER PIN 4 to PIN 3
and PIN 6 to PIN 1

* OPTIONAL, NOT INSTALLED

© PRESET TRIM POT

TERMINATION INPUT WITH 800E WHERE NOT USED.

(1248)
s
30,1/2% | s sl
@ 100K  4KSS,1%
®
0.1 2
8 Ics
43
10K,1%
'_“o.ll
301720
N/C

R33 3 0.1
ANy +\U7 1 _l
1K1% cs 8 R39 7 J6
553 ot 30,1/2w
R36
K1
RIS R3B 2 c17
3¢ 300,1% 1o0p
30,1/2W ADJUST RANGE  ow
280
~6dB to +24dB 100K
100K, 1%
eef [CaN] gy & c18
° 300,1%3 100p
R38
l 2001%
100K1% ] =
100KI%  ypy 1y 0.1
o1 ® Sl RAD .
R18 R34 3 _-"53“ 30.1/2w 2
30,1/20 1K1% - |.Q-.L$
CIRCUIT 2 PREFIX COMPONENTS BY 100 = 9
EXCEPT 1C7,C8 2
CIRCUIT 3 PREFIX COMPONENTS BY 200 = !40
EXCEPT 1€9,iC10 :
CIRCUR 4 PREFIX COMPONENTS BY 300 —>12
EXCEPT iC11.,IC10 —> &
CIRCUT 5 PREFIX COMPONENTS BY 400 — 7 145
EXCEPT 113,14 > ;
CIRCUIT & PREFIX COMPONENTS 8Y 500 => 9
EXCEPT (C15.C16 g
CIRCUT 7 PREFIX COMPONENTS BY 600 = 10
EXCEPT IC17,iC18 s
CIRCUIT 8 PREFIX COMPONENTS BY 700 - 12
EXCEPT 1C19,)C20 > 101
CIRCUIT A
(FRONT PANEL) i} 7 J3
@ 20K,1% Uy /50
CER 100K
owe ] %
499 100k
% (x12d8) )
K76 I A 1 1
1% 20K,1% Y1/50 .,
CER 100K
[:I %
- 9
CIRCUT B >3
—> 10
CIRCUIT C : ;
—> 12
> 68
CIRCUIT D > 8
> 7 {2
CIRCUIT € > ;
o: 9
cinour ¢ >3
—> 10
CIRCUT ¢ g
—> 12
LIS
CIRCUIT H g

N

(2]

FS

o

-]

~

o

(N N ) |

(B I O O

(NOTE 3)

1 x 8 SECTION
8 x 1 SECTION
MDA-~100
AUDIO SCHEMATIC
DN M. Tesiur-o0 RAVIRS AR
Ly T D | MpA-100/2—-1




»,

A B c D | E
' |
|
|
I
: PCB1026
|
|
|
| CRS
| IN5060
I L}
: IN5404/ MRS04 Fm—————
. (x4) ] 1
POWER ENTRY MODULE | _ _ [ resz LI
— I | | Temiss7ei8 | | (Guev)
l FUSE,IA. l n P8 Jg| + L——F—-d CR6 +
e e 6\ ot BLK__od WHI r== o0 CRI CR3 21 cz2 IN5060  o23
1107220 YEL i | 4700/50 R49 4
_A.C.INPUT | lL | |switen < 1! CER 27 LTANT
W5/220V | NEUTRAL € Nos——ORA 1 & nrv oo = = T =
80/60Hz | I N\ I 1 by |
20VA. GROUND < 1 BLK @ = | | :
e L i l] DELTA <2 : ) 2 GND3 cRs
CONNECTOR OGANS , R NG 286
ORA GRY 3 1 | 3et _I 3oV
! (N { =.
GREEN GREEN 18V I i |
nrv 1 1 | |r?5Ro760 N Lepi
- Y VDY R P is0e0 3) - rouer”
I BRN o L L k .. » SBR - 3931
aci : Ta7o0r50 r====-n
(KEYSTONE 1257) : m i
. H__REGL 1. . —18V
| cHASSIS _: ]- | | 7ome/ T918] | J. E)
T T T Taecz \(KEVSTONE 12600 T T T T T T T L——J-—-—-d CR8
- L acz T{KEYSTONE 1267) c2s ‘ nGRe c26
R 1 Y9 : +22/35
| | TANT
CHASSIS 1! ] = = = =
GROUND | I
| 2 <—I—<
| e
r——i-4<
o |
I |
oy |
L3
i ]
SYSTEM | |
{auDIo) | 5"—|——"
GROUND |
!
| 6e—
1 |
S—
|
|
| T
| | g
TO CONNECT AUDIO GROUND TO EARTH GROUND, !
CONNECT PIN 1 TO PIN 3, PIN 2 TO PIN 5, AND PIN 4 |
TOPING. |
TO CONNECT AUDIO GROUND TO SOME LAST USED ot e 1=
REFERENCE OTHER THAN EARTH GROUND, LEAVE c26 B
PINS 1, 2 AND 4 DISCONNECTED, AND CONNECT = :
THE GROUND REFERENCE TO PINS 3,5 AND 6. L
R49 ?
| s MDA-100
: o POWER SUPPLY SCHEMATIC 4
l REG | T s
' —— ME_ Bl o I'MDA'-IOO/Z-Z
! | i
A B D

E




~

—

=
||
|

J1

L

PCl1O26

Jé

I

J7

AFTER ASSEMBLY, ADD JUMPERS ‘-
{1) ICAPINTTOIC3PINT

NOTES:

]
—

x O] 4 [0
Emﬂmﬁm@m

O

GNO3

+
@@D g [ e o
P~ R JB o) el 1 5]
o B8 =) S e g
+msz o [6153]
0
gel g B B
4 MO0 MO0l
@ &
A001 HOO0I
+ S s
o]
_.Om
ee]
]
o]
=]
o]
w
H
w
[T m]
aZz
Io
(&)
£E = 12
(2]
(]
£ ¥
z i
=9
3z
W e
2 =&
w ~N
w N
T
- <
T o
c o
= x
@ ¥
o
g% I
g g
[+]
*

EET i
wA E (G o B
u“ g Lzmo_
oes  [Foz] )
[Ho01]
9
L -
0571 ezl e m.ﬂt E
o
e, Gem LBl e
9
ECX) ()
B m gl o
e Gem Pl F
[Y00!]
[#001]
0871 [iez]
[osnl  [302]
ELTTR
[H001]
oss1] . [ez)
(ool [Fezl
[Moo|]
{3001 ]
os/1]. [oZ]
(o5l [3cg]
[001]
Piooi]
08/1 Gzl [l o z
H:=a
r5s71] iEz] F < H
EEm B
o5/ [302] mm g ﬂvﬁ mm
X
], em LRlg” H °
= L)
W _ tm_.m _ cOn.r ] u
8 3] gl B
R—F TR —

H

H =

<]

| 100p1]
[ 20K |
5 a
it
100pf
20K
I6
foiut]

100p ¢

(]
i g iy

100pt

=g i el

= e ] m . I
B i gl

REG 1 ~18V

TLE |

o
0
>

—
IF ]

J8

-4

AR

- L]
B b L
D MDA-100/8-2

©
.m. RW
%00t L
o<
wmmn_w 3 38
L P Fe
Exl ‘mm?m. o o233
% 4 = g g 1]
300! pmm H 20
a < 0 »
334, Qg%
334 53
; S
[6537] mw =
LH0
S
]

Mool .

ool

Aool S

N .

E %oo0l

o]

Xool

Aool

!

b
Q)
41|

T B B B a%a geeoll

Moot

b 1o}

Jool

%00}

Hool

%001

REEEEE:

Fosd

REG 2 +18yIEND!

—
[ 7818
|

0G/1

. |
L

ki LED1

.K_

+

4700n¢
30

@






